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TR (MRSEDH)

ex6_calculatorl.cc

#include <iostream>
using namespace std;

class Calculatorl1 {
private:

double val; // sTEHNZETEEIEL T
WA(E

public:
Calculator10{// AV A NZU 5
clear(); // 1ED T YU

ZHOMHITCEDHTED

:yz#%ﬁ&wm?@&}

void clear(){ // [ED 2V U 7
val = 0;
}
double add(double val2){ // &9
val += val2;
return val;
}
double sub(double val2) { // 51 <
val -= val2;
return val;
}
/] IREDEZIRT
double get_val() {
return val;
}
};




HE (INREDM) ex6_calculatorl.cc

int main() {
string ope; // O~ R AT
double n; // #IEATIH
Calculatorl calc; // StEHEDOA T =V b Z1ES

cout << "Input an operation and a number separated by space (ex.
¥'+ 10¥" to add 10)." << endl

<< "Input ¥"'=¥" to show the current value." << end|
<< "Input ¥"clear¥" to clear." << endl|
<< "Press Ctrl+c to quit." << endl;

cout << "Current value: " << calc.get_val() << endl;




HE (INREDM) ex6_calculatorl.cc

while(1) { // #&RIL—7

cin >>ope; // F—IN—RKRMNS5IANVYRZ AT S

if (ope=="+"){// AN RN "+" DFXNS
cin>>n; /] F—IMN— R S#HEFZANTS
cout << "Result: " << calc.add(n) << endl;
continue; // EIRIL—T DRAICRE S

}

if (ope=="-"){// AN D "-" DFND
cin>>n; /] F—IR—RKDSHFZANTS
cout << "Result: " << calc.sub(n) << endl;
continue; // ERIL—T DRAICRE S




HE (INREDM) ex6_calculatorl.cc

if (ope=="="){// AN KM "=" DFANS

cout << "Current value: " << calc.get_val() << endl;
continue; // EREIL— T DEHICRER S

}

if (ope=="clear"){// O~ > KA "clear" MFANS
calc.clear();
cout << "Result: " << calc.get_val() << endl;
continue; // FERIL—T7D=mVICR S

}

cout << "Invalid command! ignored.” << endl;

}

return O;
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Input an operation and a number separated by space (ex. "+
10" to add 10).

Input "=" to show the current value.
Input "clear” to clear.
Press Ctrl+c to quit.
Current value: O

+ 10

Result: 10

+ 100

Result: 110

EOXFIE1—1
MAADULIEDDERT
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Result: 160
- 1000
Result: -840
clear

Result: O

+ 10

Result: 10

Current value: 10



E’I’%*% (mﬁuﬁﬁ.ﬁ_”ﬁ) ex7_calculator2.cc

#include <iostream> void clear(){ // 1ED T U 7
using namespace std: }val = 0;
C CISITZRRE || double add(double val2) { // B9
class Calculator1 { val += val2:
protected: // AUV SR EHBT return val;
Sfcblc, protectedic 9 B }
double val; // GTEEANETEREL T double sub(double val2) { // 5] <
WAE val -= val2;
return val;
public: J

/] IREDEZIRYT
double get_val() {
return val;

Calculator10{// AV A NZU 5
clear(); // 1ED T YU

77 Z X Calculation1(& | |5
zzF<oxx S 00000000
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class Calculator?2 : public Calculator1 {

public:

R /27 = ZCalculation1 Z#t& U 1=

double mul(double val2) { 27 = A Calculation2 Z= #Hr/c [CIB N
val *= val2;

|

return val;

}

/] #MT 5

double div(double val?2) {
val /= val2;
return val;




SHE (MAEE) ex7_calculator2.cc

int main() {
string ope; // O~ R AT
double n; // #IEATIH
Calculator2 calc; // StBEDA T = UV b Z1ES

[ 27 7 XCalculatorl A7 7 M H5 }

272 ACalculator2®A 73 7 MNMCEE
cout << "Input an operation and a number separated by space (ex.
¥'+ 10¥" to add 10)." << endl

<< "Input ¥"=¥" to show the current value." << end|
<< "Input ¥"clear¥" to clear." << endl
<< "Press Ctrl+c to quit." << endl;

cout << "Current value: " << calc.get_val() << endl;




B =
e (MALBEEY) ex7_calculator2.cc

while(1) { // #&RIL—7

cin >>ope; // F—IN—RKRMNS5IANVYRZ AT S

if (ope=="+"){// AN RN "+" DFXNS
cin>>n; /] F—IMN— R S#HEFZANTS
cout << "Result: " << calc.add(n) << endl;
continue; // EIRIL—T DRAICRE S

}

if (ope=="-"){// AN D "-" DFND
cin>>n; /] F—IR—RKDSHFZANTS
cout << "Result: " << calc.sub(n) << endl;
continue; // ERIL—T DRAICRE S




o =
_1'%1% (Pl:l Ufﬁ%’)’(jrﬁ) ex7_calculator2.cc

if (ope=="*""Y{// AN KL "*" i3S
cin>>n; /| F—IR—RKRHSHEEFE=ZANIT S
cout << "Result: " << calc.mul(n) << endl;
continue: // ERIL—T7DORIICES

}

if (ope=="/"{// AV RKH"/" HiANS
cin>>n; /| F—TN—RHOSBFEZANTS
cout << "Result: " << calc.div(n) << endl;

continue: // BRI — 7 DORIICRES
ey

427 = A Calculation2 THfzlchii - 1
MMFIE. ZDOEDUIEZ ENN




L=
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if (ope=="="){// AN KM "=" DFANS

cout << "Current value: " << calc.get_val() << endl;
continue; // EREIL— T DEHICRER S

}

if (ope=="clear"){// O~ > KA "clear" MFANS
calc.clear();
cout << "Result: " << calc.get_val() << endl;
continue; // FERIL—T7D=mVICR S

}

cout << "Invalid command! ignored.” << endl;

}

return O;
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%;e:

class Calculator1 {
private:

double val; // sTEHERNZETEEL TWBIE

$

REV ZANS IR

TZE 3 & Dlcprotectedic | class Calculatord
£l protected: // AUV TR EHEIT B
= protected|c 9 %

double val; // TEEERNZE TR L TWLWBIE
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EE?U@EIJEI’\JX T U HECR - BRI

CES:ED% XE)DRE%ZSsizeolEEF
) maIIoc’CX-— ) DFEIF TEELHEWEWFHEWL,
= T ) ve ﬂF'VX I\:E)LZ\EO
¢ free T DB mElZ o 1o
ex8_malloc.c

#include <stdlib.h> /* mallocZ{E> & =D EFIE *)

int main() {
Int *n;
n = (int *)malloc(sizeof(int)*10); /* intELDZ 1 085 D X TV HER */
free(n); /* HEIRUTc X T DB */
return(0);
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C++Dimzae sizeoff EEFEHFT P A NBALRE

» newTXE DIER
DO RESHAT D E L.

n=new Iint;

ETNIERW -
44[EEZRﬂ®X%Uﬁﬁ®t}

S o | 72
» delete [[TXTEY DRIK <. (PUBE

ex9_new_array.cc

int main() {

Int *n;
n = new int[10];: // intBXOZH1 0D D X TV FERE

delete [ n; // HEEERUIEXEY DR
return(0);
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#include <string> // stringz={E > /=l E _
#include <iostream> // AHEDICHE ex10_new_obj.cc
using namespace std; // =

class Account {
public:

string name; // &Hi
int balance; // &=

b

int main() {
Account *suzukip;

suzukip = new Account(); // AccountBEDA T 7 k= VERL

suzukip->name = "$5KgE—"; // TR A DHEHE]
suzukip->balance = 123000; // $ARS ADFERS

cout << suzukip->name << "EkDIESEIE" << suzukip->balance << "HT
9. " << endl;

delete suzukip; // FER LA T DFHIK
return O;

}
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» New TCTXTEY DIE(RE
X9, VTADINRA VI ZES _
N CREAVARNS S

Account *suzukip; TS | BA T N2
newlc £ ATV LY DR s
suzukip = new Account();

y T ADIRNA Y
AV)INNDTF I ERIEORbDIC, "->"%FES

e moscver
« suzuki I:I)Daiance Account*Ed 5 AccountE(C
R 125D T

Pkl AN

.1

[1% DT 75 LY

S — | 7
» delete TXE Y DR ngg ATV hDEER, }
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D3ANTDATEY HERPBI] ex11_constructor.cc

#include <iostream>
using namespace std;

//;7‘9‘17 NMERCEFICEIRIIC A B ZHER L, BERICA T ZHRNT
577X

class dyn_mem {

public:
int *array; // FE9FHDRA > 5
int size; // BLAlDOKRE S

dyn_mem(O){// 77 AIEOAVANTIH

;ize =0; /) ERINDTA I ESNGEWEEIE, EIDXETEY ZHER
L7 Wy

} R U TWEWEEF D X T Y N Z k[T
_____________________________________________ SHlcHlc, sizez0lcLTHL —




ot =
D3ANTDATEY HERPBI] ex11_constructor.cc

dyn_mem(int _size){ // AV AT U H
cout << "Constructor is called." << endl;
Size = _size;
cout << "Memory is allocated.” << endl;
array = new int[size]; // B D X E Y HER

}

~dyn_mem({// TAKZ VY
cout << "Destructor is called." << endl;
if (sizel=0){ // EEHICKXEYDEREINTWDIHEEDH, XEUZHNT S

cout << "Memory is released.” << endl;
delete [] array;
size = 0;
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D3ANTDATEY HERPBI] ex11_constructor.cc

int main() {

{

cout << "A" << endl;

dyn_mem dm(10); // A7 7 ~DIER(CKE =D T10DEF D
XE ZfER)

cout << "B" << endl;

}

cout << "C" << endl;

JHYJHWNTE ént R
| (ATIT ) | V7
return O; W& % g:ﬁ)gz*z‘:f:h,%
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$ ./a.exe AT NDMESTN T,
A AEBYUDMERS NI

Constructor is called.
Memory is allocated.

—_B--

Destructor is called.

Memory is released. ST MAIEE N
—-C-- T. XTEYNERSEI NI
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